
#Jf:ltrp .Ir..t~~JFa\102 ~if-lt~-~~JJtt~(c)JtJJ*-=t~§ ~ 
( ) 41. e.*'~% A = {1 , 2 , 3 , 4} , J!~T 7'1~3{-Jur:i- jf._;{i? (A)2 c A (B)0 E A (C){3} E A (D)A 

~%#:13 16100-1-~ 

c ) 42. 5\-f-.-=-' :1r 40 ~ ~!!. • i\-f-.~ff.J ~~:t.!f~~ 72 ~ • ~"'"~ 6 ~ • *i\-f-~~~• j_ 't ~~~c.· ~r,,~a 
#rff.JA.:ttfi.!;lf~A.? (A)4 (B)3 (C)2 (D)1 

( ) 43. e.*'~~~ a1 + 2/ - 4x + 3ay- 7 = 0 ~lil%~- 00 • M ~00 -f~~~ (A) 3-fj (B) 2-!3 (C) J7 
2 2 

(D) 5J2 
2 

( ) 44. ~Uh~ 41 - 16/ + 4x + 16y + 1 = 0 ~.i£.~,~-f<~ (A)4 (B)6 (C)~ (D)8 
2 

( ) 45. E..*o~4bJ~y = cd + bx + clil&( - 1 , 4) '(1 , 2), (2 , 4);_J5JiTJL~1!t~~(m, n) • M 5m-

2n ~1K~ (A) - 3 (B) - 2 (C) - 1 (D)1 

C ) 46. ~~-f*fft-0- ~~~-lf-M~j¥j t~!!. 4-~-f*F,®.- • -1*~~~ 111; :7t • 1* ~ ~ 200 :7t • 1*F,®.-0 ~ *tllt&*'i 
*4M-F • j¥j 9='~!!.~-t-tti ;t7~f/.J~:.f.~ 0. 99 • J!tJ-4ij:--{f1*~!!.1*fft-0-~~>1'1ff.JM~1K~ (A)O :7t (B)100 

:7t (C)200 :7t (D)300 :7t 

( ) 47.ft~~~~~(x-1i+(y-2)2 +J(x-4)2 +(y-6)2 =2a~~%niJ""t • T7HtiJ=i-~-? (A)* a> 2 • J!tj.:Jt 

il%*-~00 (B)* a< 5 • J!IJ~fil-Jf3 (C)* a= 5 • *-~& (D)* a= 4' J!IJ.:Jt~%*-~00 

( ) 48. -t-1~~Jt &i~{tht!ffl{thff-f/.Jtl*-t!Jl!-~*'11. , 1£. T 7HtiJ=i-·lt5JLJ\l~~%~Jt ff.J~ M? (A)Jt M ff.J ~~ 

+ ',.fpqff.J~~:k (B),.fMff.J~~:k • ;fpqff.J~~:k (C);fra,f/-J~~+ 'Jtpqfi-J~~+ (D)Jtra,f/.J~ 

~:k·JtP'Jff.J~~+ 

( ) 49. :1f !iM1£. 95% ff.J1t ·~ *-"'" T '1t ~ Gk M ff.J ;t ~ ~-Jur? (A)95% ff.J{!-$.k.iE~ ff.J (B)95% ff.J{!-$.r!fff-ff.J ~ 

M-t"t!..*•.iEf/.J~ft$-tt (C)95%ff.J~-t-k1Kff-1t~ff.J (D)~%~ l§'ft 

( ) 50. +.ri:J$-/Ja*lf-~-::k.£-$.~11 ~1~' Jt~~·~ a ~t-ta(PR1K) ~ 95 • ~-**lf-#:13 15 ~~;;lf!!.$-/Ja • 

J!l1 +Jt.rff.J ~~:l-1£.1! 15 ~~;;If!!. t ff.J-#~~ 1lr.I:k~ ~1iiJ? (A) 12001"' 15000 (B) 10001 "'12000 (C)7501 

--10000 (D)6001--7500 

( ) 51. 00 C: 1 + y + 4x- 4y- 1 = 0 J:.~~~A~ L: 3x- 4y- 26 = 0 ~:l~Ji.JE.-~ (A)5 (B)4 (C)3 

( 

( 

( 

( 

( 

( 

( 

(D)_g 
5 

x2 y2 
)52 . .!fliJJ:.' ~,if;J ~!5(13, 0), ( -13, O)JE.-~ff.J~ft1K·I:i~ 24 ~F!T:1f.,5~-fJLff,JJ.~~~~ (A)---=1 

25 144 

~ ~ ~ ~ ~ ~ (B)-+-=1 (C)---=1 (D)-+-=1 
25 144 144 25 144 25 

) 53. tf-J11:1f 1i1iJ:ralf:~:tt~~~t~;JIJJl 75,80, 88,82, 85 ~, M1!1i1lr.M~~itff.J~~ft~"'"~k~ jt'? 

(A)~18.0 (B)~18.5 (C)~19.6 (D)~20.4 
) 54. f, ~,if;JJ1l~it~~~~T: fJ11: 20,40, 60,80, 100, ~J11: 60,60, 60,60, 60, J! 1lT71J~l! 

1iiJ:i-~k? (A)fJ1I.!f~~&.f!-kf (B)~Jjl.!f~~&-t!-kf (C)fJ11~&-t!5l (D)~J11~&-t!5l 

) 55.i!l&!5P(7, -1)' ll~OO 1+/= 25{ElM~~rm~Jll~tJJ~~~Aff.J#.i.f.~ (A)± (B)-± (C) 
3 3 

3 3 
- (D)--
4 4 

) 56. e..~~OO (x+ 1)
2 

+ (y- 3
)
2 

=1 'T71J~l!1tiJ=i-~~? (A) t·~1!t~~(- 1 , 3) (B)~"f51!t~~(- 1 , 
25 9 ==== 

7) , ( - 1 , - 1) (C)-f<.fth-f< = 10 (D)~.ft.fth.f< = 6 
x2 y2 y2 x2 

) 57. rJ-(0, 3), (0, - 3)~Tjl!5 'll#-fle..fth-f<~ 2 ff.J~Uh~~~~~ (A)---=1 (B)---=1 (C) 
9 1 9 1 

x2 y2 y2 x2 
---=1 (D)---=1 
1 9 1 9 

) 58. ~ jfjf4tttl~ 20 , 25 , 38 , 38 , 38 , 38 , 40 , 45 ' J!l1 Jt~ t J::ttrJ-1iiJ:i-~11? (A)Jf.#r.!f~:tt (B) 



tf 1.n:.tt (C) 4ltt (D)~itt.!. 

( ) 59. ill& P (4 , 3) • Jl.~OO C: (x- 1)2 + (y + 1)2 = 25 {IHJJEf-Jli.~:?~.i(.~ (A)3x - 4y - 24 = 0 

( 

(B)3x + 4y- 24 = 0 (C)3x - 4y + 24 = 0 (D)3x + 4y + 24 = 0 

) 60.1f!UlftOO(x+
2)

2 

+(y -
4)

2 

= 1Ef-J~l!K1ar::t:!f~? (A)tf·~~( - 2, 4) (B)~P~ft!IDJ:..~.~ •fi ... Fz 
4 9 

- - 8 
~1-t!!i • MPF;+PF; =6 (C)-!t.fm-'ftrx.fth (D)iE?!-3~-it~-

3 


